IRONRIDGE AIRE ALL TILE HOOK
(INCL. 2 LAGS)

ITEM NO DESCRIPTION QTY IN KIT

1 SCREW, LAG, 1/2" HEX, W/ FLANGE, 5/16-9 4” 2

AIRE DOCK, BLACK

ARM, TILE HOOK

7/16 HEX HEAD, 5/16-18 UNC THREAD FLANGE NUT

NN WIN

1
1
BOLT, CARRIAGE 5/16 X 1" 1
1
1

BASE, TILE HOOK

PART NUMBER DESCRIPTION
AE-ATH-01-M1 AIRE ALL TILE HOOK

v1.0




1) SCREW, LAG, 1/2" HEX, W/ FLANGE, 5/16-9 4”

25 R I 4.00 o ]/2" Head _>/
Q¥®.63~

Property Value
Material 300 Series Stainless Steel
Finish Clear

2) AIRE DOCK, BLACK

! [ .75 139 =
s e
1.50

Item No. Material Finish
1 6000 Series Aluminum Mill/Black
2 Nylon Black
3 300 Series Stainless Steel Clear

3) ARM, TILE HOOK

496 1.184'——1

N

2.37

Lk T

Property Value
Material 300 Series Stainless Steel
Finish Clear

v1.0




4) BOLT, CARRIAGE 5/16 X 1"

5/16-18 THD

.63

Property Value
Material 300 Series Stainless Steel
Finish Clear
5) 7/16 HEX HEAD, 5/16-18 UNC THREAD FLANGE NUT
.50
39 ] 5/16-18 THD
Property Value
Material 300 Series Stainless Steel
Finish Clear
6) BASE, TILE LOOK
— 4.37 -—
r l—1.96 —=
1 1 ] | |
OO0, ; ; 3

OOOOOD

L . .

~ 5.51 -

2.13 —=
_F

1 c 0

Property Value
Material 300 Series Stainless Steel

Finish Clear

v1.0




